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QUESTION 1

During Cloud Inventory implementation your customer requires you to enable the Oracle Transactional Business
Intelligence (OTBI) KPI to review the list of standard reports which is useful for their current business scenario. When
navigating to reports and analytics, the warehouse dashboard doesn\\'t show any KPI watchlist.

Identify two causes. (Choose two.)

A. Logistics Business Intelligence Analytics is enabled.

B. Logistics Business Intelligence Analytics is not implemented.

C. Organization is not enabled for warehousing.

D. Data permissions for the organization being referenced are not set up.

E. Supply Chain and Order Management Business Intelligence Analytics is not enabled.

Correct Answer: BE

QUESTION 2

Your company has multiple inventory organizations where goods are transferred internally. A user has created a new
organization but new organization is unavailable when creating an interorganization transfer.

What is the missing setup?

A. Inventory organization data access for users is not set up.

B. Interorganization Parameters are not set up between the organizations.

C. The destination organization transfer type is In Transit.

D. The source and destination organization doesn\\'t belong to the same legal entity.

Correct Answer: D

QUESTION 3

Which action invokes supply chain orchestration and transfer of data to supply chain orchestration Interface tables?
A. creating Purchase Order Receipt

B. running a scheduled process called "Create Transactions"

C. running Min-Max Planning

D. creating a new Inventory Organization for execution of supply chain orchestration

Correct Answer: C
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QUESTION 4

Given the code fragment:

<servlet-mapping>
<servlet-name>firstServlet</servlet-name>
<url-pattern>/*< /url-pattern>

< /servlet-mapping>

<servlet-mapping>
<servlet-name>secondServlet</servlet-name>
<url-pattern=>/</url-pattern=>

</ servlet-mapping>

<servlet-mapping>
<servlet-name>thirdServlet</servlet-name>
<url-pattern>/</url-pattern>
</ servlet-mapping>
When the context root is requested http://host:port/context, how does the container resolve this mapping?
A. thirdServlet handles the request.
B. firstServlet handles the request.
C. The container throws an error at startup.

D. secondServlet handles the request.

Correct Answer: C

QUESTION 5

Given the code fragment: Which URL triggers the invocation of the getEmployee () method?

@Path ("Employees")
public class EmployeesResource (
TInject privace EmployeeManager em;
BGet
@Path("[id:[A-Z] [0-9]+)")
public Employee getEmployee(@PathParam("id") String id) {
return em.findEmployee(id);
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A. /Employees/89724
B. /Employees/J6349
C. /Employees/id:a7280
D. /Employees/id/J6349

Correct Answer: B
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